B. The Theory of Choice

1. Figure 4 shows a recent ranking of some large US cities by their Crime
Rate and the number of Artistic Events held there.

(a)

(b)

()

If a person likes artistic events—in other words, the more artistic
events there are in a city the more he likes the city—Dbut he does
not care about different crime rates, what would his indifference
curves look like on the graph? Which indifference curves repre-
sent higher and which represent lower utility? (Do not put your
answer on the graph itself because I would like you to put the
answer to part (c) on the graph.)

If a person dislikes crime—in other words, the higher the crime
rate is in a city the more he dislikes the city—but does not care
about artistic events, what would his indifference curves look like
on the graph? Which indifference curves represent higher and
which represent lower utility? (Do not put your answer on the
graph itself because I would like you to put the answer to part (c)
on the graph.)

Suppose a person likes artistic events but dislikes high crime rates.
What would his indifference curves look like? Which indifference
curves represent higher and which represent lower utility? You
may draw them on Figure 4. Particularly explain the meaning of
the concavity, convexity, or lack thereof of the curves which you
draw.

2. Suppose there are only two goods in an economy, and call the two
goods “lima beans” and “pinto beans.” Increases in the consumption
of lima beans lead to increases in utility until some point, but after
that, increases in the consumption of lima beans lead to decreases in
utility. The same is true of pinto beans.

(a)

(b)

Sketch a few of the consumer’s indifference curves, and indicate
the bliss point. Explain why the indifference curves are shaped
as they are (but to save time, you do not have to thoroughly
explain each unusual part of an indifference curve—just explain
one of the unusual parts).

Graphically show that if the consumer’s income is small, he will
spend all his income. Also show that if the consumer’s income is
large, he will not spend all his income.



3. Mr. A, rather than having diminishing Marginal Rate of Substitution
of X for Y, has constant Marginal Rate of Substitution of X for Y. X
and Y are the only two goods.

(a) Sketch three or four of Mr. A’s indifference curves, and indicate,
for your sketch, what the numerical value of the Marginal Rate
of Substitution of X for Y is.

(b) Show, on the graph you made in part (a), a situation (that is, a
budget constraint) leading Mr. A to buy only good Y. Is px/py
less than, equal to, or greater than Mr. A’s MRS of X for Y in
the situation you have illustrated?

4. Mrs. C gets utility from consuming good X and good Y. The price of
good X is $2 and the price of good Y is $6. Mrs. C’s income is $12.

(a) Graph Mrs. C’s budget constraint.

(b) If Mrs. C’s utility function is U(X,Y) = X + 4Y, how much X
and Y will she buy? :

(c) How will your answer change if U(X,Y) = X + 3Y?

5. Mr. B enjoys fish (F') and chips (C) according to the function: U(F,C) =
F+C.

(a) The price of fish is $2 and the price of chips is $1. If Mr. B’s
income is $2, how much fish and how many chips will he buy?
Draw a graph of Mr. B’s indifference curves and budget constraint
in this situation and show how to use the graph to answer the
question.

(b) Is Mr. B’s marginal rate of substitution of fish for chips decreas-
ing? Why do we ordinarily have diminishing marginal rate of
substitution?

(c) Now suppose the price of fish drops to $1. Will Mr. B be better
off? How much F and C will he buy? What does the diagram
now look like?

6. Mr. C has the following utility function: U(X,Y) = 2X + Y. Some
of his indifference curves are drawn in Figure 1. Suppose the price
of good Y is $1. For what values of the price of good X will Mr. C
decide to spend all of his income buying X and, therefore, buy no Y at
all? (Of course, as always it is very important that you explain your
answer thoroughly.)
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Figure #. Notes: (1) Oakland lies between Houston and Detroit. (2) Newark lies between Phoenix and
Detroit. (3) Salt Lake City has almost the same position as Anaheim, Louisville, Raleigh-Durham, and San

Jose. (4) Albany has almost the same position as Nassau-Suffolk Counties (NY).
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